
        बाÛनीगढȣ जयगढ़ गाउँपाͧलका 
           पशु सेवा शाखा 
 
kl/ro M 
!= ;+:yfsf] gfd M kz' ;]jf zfvf 
@= sfo{qmdsf] gfd M kz' ;]jf k|;f/,kz' ljsf; ;]jf,k=:jf=tyf  
   Sjf=sfo{qmd, kz' cfxf/f ;]jf 
#= kl/of]hgfsf] p2]Zo M kz'hGo kbfy{sf] pTkfgdf a[l4NofO{  
   kf]if0f ;'/Ifdf ;xof]u k'/\ofpFg] . 
$=kl/of]hgfsf] nlIft ;d"x M gLlh kmfd{,;d"x,kz'kfns s[ifs,  
   ;Fqmldt JolQm,;'gf}nf !))) lbgsf cfdfx? 
%=;fFem]bf/ ;+:yf M lgzt{ ah]6 tyf af=h=uf=kf= 
^= cjlw M cf=j= @)&$÷&% 
&= ah]6 ?=  M  #&&@,))).) 

 



xfn;Dd ;Grfng u/LPsf lqmufsnfk / ;xof]u  

qm=
;+= 

laj/0f nfut gub ;fdfu|L ;xuf]usf] 
k|s[of 

kz' ;]jf k|;f/ sfo{qmd 

! pkrf/ ;]jf 

kz'k+IfL pkrf/ 400.0 0 cf}iflw 
vl/b 

cf}iflw ljt/0f 

@ /f]u lgoGq0f ;]jf 

 /]ljh /f]u la?4 
vf]k 

20.0 0 cf}iflw 
vl/b 

cf}iflw ljt/0f 

# k|of]uzfnf ;]jf 25.0 0 ;fdfu|L clkm;sf]nflu 



;+rflnt ============ 

qm=
;+= 

laj/0f nfut gub ;fdfu|L ;xuf]usf] 
k|s[of 

$= 
lxpFb] h} 3fF;sf] 
ljp ljt/0f 

25.0 0 ljp vl/b  ljp ljt/0f 

%= 
ax"jlif{o 3fF;sf] 
ljp ljt/0f 

60.0 0 ljp vl/b ljp ljt/0f 

^= 
o'jf nlIft afv|f 
vf]/ ;'wf/ cg'bfg 
& j6f 

700.0  
700.0 0 vftfdf 

xfn]sf] 

&= df;' k;n ;'wf/ $ 200.0 0 200.0 btf{jfn df;' 
k;n 



;+rflnt ============ 

qm=
;+= 

laj/0f nfut gub ;fdfu|L ;xuf]usf] 
k|s[of 

*= ;lh{sn ;fdfu|L vl/b 52.2 0 ) clkm; k|of]hg 

(= Jo=kz' kfngsfnflu 
5ftf;}g ljz]if sfo{qmd 

afv|f kmfd{ ka4{g cg'bfg 700.0 700.0 0 vftfdf hDdf 

af]]sf ljt/0f & 140.0 0 af]sf o'jf nlIft 

ax"jlif{o 3Ff; ljsf; 130.0 0 ljp kz'kfns s[ifs 

l8lkË 6\ofÍ lgdf{0f ! 100.0 100.0 ) p=;ldt dfkm{t 



;+rflnt ============ 

qm=
;+= 

laj/0f nfut gub ;fdfu|L ;xuf]usf] 
k|s[of 

!)= 8]/L k|a4{g sfo{qmd 

e}+;Lsf] uf]7 ;'wf/ @ 100.0 0 100.0 e}+;L ;+Vof 

!!= pGgt ufO{ kfng – ln8L 

ufO{ vl/b cg'bfg % 200.0 200.0 0 ;d"x dfkm{t 

ax"jlif{o 3fF; ljsf; 28.0 0 0 
 

vl/b u/L 
ljt/0f 

!@= 
;FqmldtnfO{ afv|f ljt/0f   

-@# hgf $^ afv|f_ 
310.0 0 afv|f 

:jf=rf}=sf] 
l/kf]6{ 



;+rflnt ============ 

qm=
;+= 

laj/0f nfut gub ;fdfu|L ;xuf]usf] 
k|s[of 

!#= tflnd sfo{qmd 

:ynut ! lbg afv|f knfg 
^ 

60.0 eQf cfjZos Af=kf=;d"x 

:ynut ! lbg e}+;L knfg 
# 

30.0 eQf cfjZos e}+=kf=;d"x 

s"n ah]6 ?= 3772.2 

vr{ ?= 
3772.2 

 













;+rflnt ============ 

qm=
;+= 

laj/0f nfut gub ;fdfu|L ;xuf]usf] 
k|s[of 

@= kz' :jf:Yo /f]u cGj]if0f tyf Sjf/]G6fO{g sfo{qmd 

!= 

kz' cf}iflw k;n,kz'k+IfL 
kmfd{,Xofr/L,df;' k;n, 

aw:yn,awzfnfsf] e]6]/Lg/L 
lgl/If0f u/L k|lta]bg k]z ug]{  

10.0 10.0 0 

e]6= 8f=sf] 
k|lta]bgsf] k]z 
eP kl5 gub 

e"QmfgL 

@= 
vf]/]t /f]u lgoGq0f ug{ 

;/f]sf/jfnfx?;Fu cGtlqm{of 
15.0 eQf 0 ;/f]sf/jfnf 

kz'k+IfL kmfd{,u|f=k=:jf=sf= btf{ 
tyf gljs/0f -k|df0fkq_ 

5.0 0  k|df0f kq 
5kfO{ e"QmfgL 

hDdf ah]6 ?======================= 
vr{ ?================================ 

30.0 
30.0 



;+rflnt ============ 

qm=
;+= 

laj/0f nfut gub ;fdfu|L ;xuf]usf] 
k|s[of 

#= kz' cfxf/f ;]jf sfo{qmd 

!= 
ax"jlif{o 3fF; ljsf; 40.0 0 vl/b u/L 

ljt/0f 

@= 
sfo{qmd e|d0f vr{ 8.0 

:jLs[t e|d0f 
cfb]z 

hDdf ah]6? ==================== 
vr{ ?================================ 

48.0 
48.0 



;+rflnt ============ 

qm=
;+= 

laj/0f nfut gub ;fdfu|L ;xuf]usf] 
k|s[of 

$= kz' ljsf; ;]jf sfo{qmd 

!= 8]/L k|a4{g pGgt ufO{  

ufO{ 9'jfgL -% ufO{ ! ;fF9]_ 100.0 6«s ef8f 

h;L{ ;fF9] vl/b ! 50.0 50.0 ;d"xsf] 
vftfdf hDdf 

uf]7 ;'b[l9s/0f 50.0 50.0 ,, 

sfo{qmd e|d0f vr{ 12.0 

hDdf ah]6? ==================== 
vr{ ?================================ 

212.0 
212.0 



;+rflnt ============ 

qm=
;+= 

laj/0f nfut gub ;fdfu|L ;xuf]usf] 
k|s[of 

%= Ps ufpF Ps k|fljlws  

!= tna -# hgf_ 864.63 xfFlh/L k|dfl0ft 

@= kf]iffs -# hgf_ 22.5 

s'n ah]6 ?= 887.13 

vr{ ?============================ 
 

887.13 
 



 ax"If]lqo kf]if0f of]hgf 

qm
=;+ 

lqmofsnfk ljj/0f OsfO{ Jflif{s 
nIf 

Aflif{s 
ah]6 

vr{ 

!= s'v'/f rNnf vl/b tyf ljt/0f           
- k|lt kl/jf/ * xKt] % 
rNnf,?=#%).) sf] b/n] !@) 
kl/jf/nfO{ _  

;+Vof 600 210.0 210.0 

@= 9'jfgL                            
-g]kfnu~h b]lv hou9 ;Dd_ 

k6s 1 40.0 40.0 

#= bfgf vl/b                        
-k|lt kl/jf/ $=% s]hLsf] b/_ 

s]=hL
= 

540 32.4 32.4 

$= cf}iflw ljt/0f k6s 1 20.0 20.0 



jx"If]qLo kf]if0f of]hgf 

qm=
;+= 

lqmofsnfk ljj/0f OsfO{ 
Jflif{s 
nIf 

Aflif{s 
ah]6 

vr{ 

%= 
s'v'/f kfng ;DalGw ! lbg] 
:ynut tflnd  -! Snf;_ 

k6s 6 30.0 30.0 

^= Joj:yfkg vr{  k6s 1 9.6 9.6 

(= 
c:yfoL bfgfkfgLsf efF8fs'8f 

vl/b 
k6s 1 5.0 5.0 

!)= nf]8 cgnf]8 k6s 1 3.0 3.0 



jx"If]qLo kf]if0f of]hgf 

s"n ah]6 ?= M– #%),))).) 
vr{ ah]6 ?= M–  #%),))).) 
ljlQo k|ult k|ltzt M– !)) k|ltzt 
efl/t k|ult k|ltzt M–!)) k|ltzt 




















